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QUESTION 1

You want to partition the SALES table on the CITY and SALE_DATE columns.
Which three partitioning methods can you use? (Choose three.)

A. range

B. interval

C. hash

D. list

E. virtual column-based

Correct Answer: ACD

Reference: https://docs.oracle.com/database/121/VLDBG/GUID-6CE884AF-84A4-4E6A-
A3EFDCCEBCAB2DB2.htm#VLDBG00202

QUESTION 2

The TESTDB container database (CDB) contains two pluggable databases (PDBs), PDB1 and PDB2.
USERL1 is a local user in PDB1 and has the SYSBACKUP privilege.

Connect descriptors for PDB1 and PDB2 are mapped to TNS aliases pdb1 and PDB2 in thsnames.ora.

Examine these commands executed by USER1 when all PDBs are open:

LW wr

5 rman targst userl/oracle 4U@pdbl as sysbackup

RMAN> SELECT sysdate FRCOM dual;

What is the outcome and why?
A. An error is returned because the user is connected to a pluggable database.
B. The current date is displayed.

C. An error is returned because SQL commands cannot be executed from RMAN without using the SQL shell syntax:
soL™.

D. An error is returned because the user is not SYS.
E. An error is returned because the user is not a common user.

Correct Answer: C
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QUESTION 3

Which two statements are true about FLEX ASM? (Choose two.)

A. A database instance on any node can connect to an ASM instance on any node.
B. A separate ASM network is required.

C. Itis impossible to connect to a database instance on one node if the database password file for the same database is
corrupt on another node in the cluster.

D. Database instances that depend on an ASM instance that is terminated fail over to a node that has a surviving ASM
instance.

E. Database instances that depend on an ASM instance that is terminated connect to a surviving ASM instance.

Correct Answer: DE

QUESTION 4

Which two statements are true about clean restore points in a regular PDB? (Choose two.)
A. They require a clone instance to be created when used in a PDB flashback operation

B. They can be created for a PDB when connected to either the PDB or to the root

C. They require backups to be restored when used in a PDB flashback operation

D. They are created as guaranteed restore points

E. They can be created only if shared undo is enabled

F. They can be created only for a PDB in the mount state

Correct Answer: EF

Reference: https://docs.oracle.com/en/database/oracle/oracle-database/12.2/bradv/using-flasbackdatabase-restore-
points.html

QUESTION 5

Which two statements are true about a band join? (Choose two.)

A. The optimizer always uses the smaller of the two row sources to build a hash table on the join key.

B. It returns rows for SQL statements that contain an equijoin.

C. Itis a non-equijoin in which the key values in one data set must fall within the specified range of the second data set.
D. For each row in the first row source, Oracle probes the second row source for matching rows and joins them.

E. The SQL runtime engine avoids unnecessary scanning of rows that fall outside the defined ranges.
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Correct Answer: CE

Reference: https://docs.oracle.com/en/database/oracle/oracle-
database/12.2/tgsql/joins.htmi#GUID24F34188-110F-4245-9DE7-43954092AFEQ
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